
Time: 10 Minutes Paper G. Science 8th Total Marks: 10

2nd Month, 2nd Week, 3rd Day Syllabus: Unit # 3:  Meiosis

Q.No.1 Encircle the correct answer from the following choices. (0.5×6 = 3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. A process by which the nucleus of a cell divides twice to form four

daughter cells is called: ZZZZ((((¿¿¿¿TTTT~~~~ZZZZqqqq----−−−−»»»»EEEE®®®®ÒÒÒÒ55554444øøøø
GGGG
JJJJ

ŠŠŠŠzzzz%%%%ûûûû„„„„ƒƒƒƒ™™™™eeeeggggeeeeZZZZRRRR,,,,ûûûû¯̄̄̄ññññBBBB@@@@****ìììì::::þþþþ

(a) Mitosis âðI‹ (b) Meiosis òZz‹

(c) Interphase ZÚ| (d) Nuclear division EÄezn,y

ii. In meiosis the number of chromosomes is: òòòòZZZZzzzz‹‹‹‹~~~~™™™™zzzzññññÎÎÎÎ''''××××ÅÅÅÅ®®®®ZZZZŠŠŠŠ::::

(a) Reduce to half ÛÐÁƒYCì (b) Become double ™tƒYCì

(c) Remain same ',ŒÛZggSì (d) Become quarter Zq-aåðzƒYCì

iii. Meiosis consists of ____ divisions. eeeezzzznnnn,,,,4444,,,,6666,,,,ŒŒŒŒƒƒƒƒ@@@@****ììììXXXX _____ òòòòZZZZzzzz‹‹‹‹

(a) Two Šz (b) Three & (c) Four eg (d) Five 0*õ
iv. During meiotic-I division the number of chromosomes is reduce to half as

compared to the ______ cell.

−−−−ÆÆÆÆ££££««««~~~~™™™™zzzzññññÎÎÎÎ''''××××ÅÅÅÅ®®®®ZZZZŠŠŠŠÁÁÁÁƒƒƒƒ™™™™WWWWŠŠŠŠSSSSgggg{{{{YYYYCCCCììììXXXX ______ eeeezzzznnnn,,,,yyyyÆÆÆÆŠŠŠŠzzzzggggZZZZyyyy 1- òòòòZZZZzzzzSSSS----

(a) Parent c.$ (b) Daughter eZR, (c) Somatic Îz (d) Germline ̀xÑí
v. ______division is similar to mitosis. eeeezzzznnnn,,,,yyyy»»»»¿¿¿¿ââââððððIIII‹‹‹‹ÅÅÅÅ§§§§bbbbììììXXXX _____

(a) Meiotic-I I- òZzS- (b) Meiotic-II II- òZzS-

(c) Meiotic-III III- òZzS- (d) Meiotic-IV IV- òZzS-

vi. In meiosis the number of daughter cells is produced: òòòòZZZZzzzz‹‹‹‹~~~~eeeeZZZZRRRR,,,,ûûûûÅÅÅÅ®®®®ZZZZŠŠŠŠƒƒƒƒCCCCìììì::::

(a) Two Šz (b) Three & (c) Four eg (d) Five 0*õ
Q.No.2. Write the short answers. (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i) Define meiosis. òòòòZZZZzzzz‹‹‹‹ÅÅÅÅ°°°°pppp™™™™,,,,XXXX

(ii) How many divisions of meiosis? òòòòZZZZzzzz‹‹‹‹ÅÅÅÅXXXXeeeezzzznnnn,,,,4444,,,,÷÷÷÷????

Q.No.3. Write long answer.                         (3) ----����ZZZZ[[[[KKKKXXXX

(i) Describe the process of meiosis, with the help of diagram.

òòòòZZZZzzzz‹‹‹‹ÆÆÆÆ¿¿¿¿ÅÅÅÅeeeeZZZZcccc****¤¤¤¤////ZZZZxxxxÅÅÅÅææææŠŠŠŠÐÐÐÐzzzzŸŸŸŸssss####™™™™,,,,XXXX
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